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STATISTICS
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+« Course: 101
( Descriptive Statistics )
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for the questions

( New Course )
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. Pass Marks : 14
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Sfereq : 1x5=5
Find out the correct answer from the following
alternatives in each question :

(@) Qﬁﬂwﬁaww‘ﬁm%ﬂmﬁm@ma

A subgroup of the population that is to
be studied is called

(i) aAfsef/sample

(i) ©u/data

(i) aforfe/statistic

(iv) S w512cF201/All of the above
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(c)

) Rt o

measure of location
W) vy

quartile
@) 3y AR 9

measure of Central tendency

() Rosoq

dispersion

(3)

(d) (X, Y) TFIE ©o] (01 SRR (o B

IH?
The coordinates of (X, Y) satisfy the lines
of regression of
) Y3 eRS X
YonX

(ﬁ) X4 @8_ S Y
XonY

(i) CATSR FARTT
. Both the regression lines

(i) SO TR @ T
None of the regression lines '

(e) AW BB & F1TI YO8 I IR L20r

In case of two attributes A and B, the
ultimate class frequencies are

)
@ (4B
@) ()
) @
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2. TS AR Ty fiy | 2

Answer the following :

(4)

(8) 200w 1 e ity e o 1 TR
R LS B —

ST g\‘numbers
‘nl.m% A €
= % Relative frequency
\—-’-/
: 12 0-05
| s | -
: 4; 0-10
\_____,_/

(b)

()

3. (a)

(S)

ST @ R @ b1 RS 3879 wree e
Reom, T e o Remets s 3°7
IR |

Show that for any discrete distribution,
standard deviation is not less than mean
deviation from mean.

Y =a+bx;, i=1,2, -, n TG, (KA @

O S (x;, y;), i=1,2, -, nT sfon(

TR BT r Go7S Ry 40 = -
()r=1,3Mb>0% (i) r=-1, 3f b<0.

TS a 9% b &3 |

If y =a+bx;, i=1,2, -, n, then show
that r, the sample correlation coefficient
of the data set (x;, y;), i=1,2, .-, n, is
given by (i) r=1,if b>0 and fij) r =-1, if
b <0. Here a and b are constants.

W S @RA AN AN UE I
TR Qe =W 2 .

When are two attributes said to be
positively associated and negatively
associated?

AR SRR o RS Pz R R0
Toe TIRPR Lo TREI g |
What are the different measuring scales

to measure statistical data? Define each
of them with suitable examples.
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(b)

4. (@

(b)

(6)

S%{7/ Or
Ww@mwﬂawﬁrﬁsﬁﬂ

SCOFC BY 39 ot 1 R w3 %-;f'

What are the broadways of presentation

of statistical data? Explain each of them ||
In brief. Distinguish between classifica” |

tion and tabulation of statistical data.

What is -disperg
and relative

the first n natur
IS an even number.

AT/ Or

mo

-Finq .
momertxttl: ﬁ;‘:t, second and thir

Uency distribution :

0’22’ul =
2513413 = 058

( Contit|

ion? Name its absolute ;
Obtain the

céntral moments: |
ments in terms of ra¥ ||

°om the following |
€¢ raw moments |
ttl

5. (a) PCaACT oM O BT I [ @

()

(7)

? o
TR QIR T 7 2 PR oMM Go1% 37

F MATS IR TIHR W T BT (AR

0-8. 3t *f% SWR I AP 33 W, (AL
CoMBIBI® <1 R R e |
What do you mean by Spearman’s rank
correlation coefficient? What is the limit
of rank correlation coefficient? The
coefficient of rank correlation between
the marks in English and Mathematics

obtained by a certain group of students is -

0-8. If the sum of the squares of the
difference in ranks is given to be 33, find
the number of students in the group.

91/ Or

AT A @ It GO TR QIR GFOLT TI6q
W, (SR’ A GFOF F 2T ) fa weg
@, X =4Y +5 9F Y = kX +4, 9% o7 &N
X3 S[S YR YT S/ X T SWRAT &1 |
(sl @ O<4k<l W k=1/16 =,
(SCAZ 73 SRR (o1 W14 B’ Wi e wrem
o BNE fAdy T

Prove that if one of the regression
coefficients is greater than unity, the
other must be less than unity. Given that
X=4Y+5 and Y=kX+4 are the lines
of regression of X on Y and Y on X
respectively. Show that 0<4k<1. If
k=1/16, find the mean of the two
variables and the coefficierit of correlation
between them.
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6. (@ ’ibrmAwmmqmﬂﬁRW%;‘:;
T R P e W I FogoR v
e, ) (CA)

Q=% B oy, O3, e (4B) _ (BC) _(CA)

F-X,W-2x,7—3xw N N N|
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two attributes 4

of independen

Show that, if " !

@_. ® © (AB) _(BC) _(CAl .y
T = 2 y —— = —_t " T

and B. Give the cl'it“”'i"’:1
ce for these two attribute

QfR

T &R S oY e SR
:‘:;,m OF T +13 s 279 |

en there : ive |
a.ssocirz!u:im-le 'S a perfect positive |

between two attributes
Woulqg be €qual tq +1,
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